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[ 147 6.9 — — NO. 0+8. ST
NO. 0+10. 1 1.3 6.9 6.90 9.0 [NO. 0+8. 8IKr T
/| 2 3.4 26. 7
& i 3.4 26. 7




G FR o CERWTE AR R

W AR R R R

LR AR L EHI_R 505

AL PE A (m) 7 i A5 (m2) 25 7 1 5 (m2) & A (m3) S
NO. 0 — 1.0 — —
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NO. 0+19. 5 7.5 0.5 0. 60 4.5
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A 10.8 4. 36 3. 680 39.7
B 10.0 4. 55 4. 455 44. 6
NO. 0 6.0 4. 10 4,325 26. 0
NO. 0+6. 0 6.0 4. 42 4. 260 25. 6
NO. 0+8. 8 2.8 3.87 4.145 11.6
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A-10.8 — 0.0 — —
A 10.8 4.8 2. 40 25.9
B 10.0 15.9 10. 35 103.5
NO. 0 6.0 14.3 15. 10 90. 6
NO. 0+6. 0 6.0 16. 1 15. 20 91.2
NO. 0+8. 8 2.8 13.9 15. 00 42.0
NO. 0+10. 1 1.3 0.0 6.95 9.0
3.9 0.0 — —
C 3.9 4.6 2. 30 9.0
C+3.6 3.6 0.0 2. 30 8.3

R 44 4 379.5

a 44.4 379.5




W AR R R R

B DEAEKL
Tnay s —fREEE
ES Sa
b B T E R R A%
B A W<2.5 A 1)
BT (W<2.5)
B 5 B (m) ¥ 1 A (m2) S5 T (m2) & & (m3) W =
C-3.9 — 0.0 — —
C 3.9 4.6 2.30 9.0
C+3.6 3.6 0.0 2.30 8.3
/) i 7.5 17.3
& g 7.5 17.3




W AR R R R

'@ LI I%fﬁiﬁ%]:
Tnay s —fREEE
ES Sa
b B T E R R A%
H ¥ - 2. 5=W<4.0  (BEAT)
Bt (2.5=5W<4.0)
s () Wr i A% (m2) Y AR (m2) & F8 (m3) oo
A — 0.0 — —
B 10.0 3.9 1.95 19.5
NO. 0 6.0 10. 4 7.15 42.9
= 16. 0 62. 4
& g 16. 0 62. 4




W AR R R R

OBl DEAEE L
vy R
ES Sa
b Bl T AR
o k& 4.0=W (HEATL)
AL (4.0=W)
R B (m) ¥ 1 A (m2) ST A (m2) & & (m3) i B
B — 0.0 — —
NO. 0 6.0 10. 4 5. 20 31.2
NO. 0+6. 0 6.0 10. 7 10. 55 63.3
NO. 0+8. 8 2.8 8.9 9. 80 27.4
NO. 0+10. 1 1.3 0.0 4. 45 5.8
/N = 16. 1 127. 7
& g 16. 1 127. 7




Wz = 5
S AR FE T AR
il B TEHE R T
Ty r o —fKEHEE
X Sal
i B T g AR S
5] ¥ 2.5=W<4.0 (EAL)

BEELE  (2.5=W<4.0)

HooR FE A (m) W 1f i (m2) -85 7 1 7 (m2) & 5 (m3)
A-10.8 — 0.0 — —
A 10. 8 3.8 1. 90 20.5
B 10.0 3.8 3. 80 38.0
NO. 0 6.0 3.6 3.70 22.2
NO. 0+6. 0 6.0 4.3 3.95 23.7
NO. 0+8. 8 2.8 4.1 4. 20 11.8
NO. 0+10. 1 1.3 0.0 2.05 2.7

2 36,9 118.9

o 36.9 118.9




=.=
o
& AR HOAT i m
SN %ﬁ %
NO. 0+12. 0 65. 0
i 65. 0

>

5

65. 0




M Bl GPTETHERE T

AR A% L z, =

FEMERT FARE A

H=1.00 WI1=1.30
RC-40, t=20cm H=2.50 W2=2.35

H=2.75 W3=2.53

Al= (1.30+2.35) X1/2X6.0+ (2.35+2.53) X1/2X1.0=13.39 13.4 m2
a7 JY—h a7 JY—h

H=1.00m A1=1(0.40+1.10) X1/2X1.0=0. 75
o ck=18N/mm2 H=2.50m A2=(0.40+2.15) X1/2X2.5=3.19

H=2. 75m A3=(0.40+2.33) X1/2X2.75=3.75

Vi= (0.75+3.19) X1/2X6.0+ (3.19+3.75) X1/2X1.0=15.29 15.3 m3
TR L

H=1.00m L1=1.00X2.121=2.12 A1=0.75
— H=2.50m L2=2.50X2.121=5.30

H=2.75m L3=2.75X2.121=5.83 A3=3.75

A2= (2.12+5.30) X1/2X6.0+ (5.30+5.83) X1/2X1.0+0.75+
3.756=32.33

32.3 m2




MET



REEA  BESLE T RS HIEX Iy 1 ERETRR U
THXS  EHEKR

T 7 Tl AR S LA IJEE S SHEIE Sy R I 15 Y

T X 1
Huft T X 1

BT (AFET) |#E235cm m2 12.4

Ko7 Y — b | o ck=18N/mm2 n 8.6

St 7 Y — b | 0 ck=18N/mm2 m 8.6

HiAay 7Y — 1 |ock=18N/mm2 m3 2.0

A4 RC-40 m3 5.9

fidiA =ty 27 Y — b | g ck=18N/mm2 m3 1.4
AT K 1

HAEY— b m2 3.3

fiA 1D 9 ot 1.4




— A A E
il Al B L
HHAI TR Bl 2\, =
L CAREL) | L CAEL)
A3=1.1X2.1+-2+(1.142.8)/2X3.8+2.8X2. 7T+-2=12.35
& %z 35cm
12.4 m2
RKim=ar 7 V— k| Kigar 27 U—F
[2=2.1+3.8+2. 7
o ck=18N/mm2 avyy—=+
o ck=18N/mn? r%
S
MElx 10. Om24 1)
E % - =® BAfL B =
av51y—+k | ook=18N/mm? | (0.854+0.904) x 1/2x0.10x10.0| m? 0.879
B INEIREEY | (1+1.118) x0.10x 10. 0 me 2.118
8.6 m
HEa 7 ) — b
o ck=18N/mm2
IR E S 10. Om24 Y
& B o® g = Bu | oM B
av s y—k | ook=18N/mn?| (0.10+0.3) /2% 0.51 x10.0 ms 1,020
B g | NEEES | (0.10+0.548) x 10.0 m? 6. 480
— 8.6 m
HiAaL 7 J— |k
o ck=18N/mm2 2 7
J A=0. 52m2 J
HiAaL U —h
V1=0.192+-2X2. 1+(0. 192+0. 439) /2X 3. 8+0. 439+-2X 2. 7=1. 993 2.0 m3
BIAA BIAA
V2=0.52+-2X2.1+(0. 52+1. 33) /2X 3. 8+1. 332X 2. 7T=5. 857
RC-40
5.9 m3




AR
M B ST

A AR 5 2\

A=z 27U —hK [liiA= 27—k
V3=12.35X0.35X1/3=1.441
o ck=18N/mm2

Jen




—Et

il B REAE T
RS 2 2\, B =
AT — b
AL=1.10X (1.79+1.68) X1/2+1.70X1.68X1/2=3.34
3.3 m2
A+ 9 A+ 9
A2= (1.00+0.50) X1/2X1.90=1.425
1.4 nf




